
#lang racket

(struct Zero () #:transparent)
(struct Succ (n) #:transparent)

(define (make-number prev)
  (match prev
    ((Succ prev) (Succ (Succ prev)))
    ((Zero) (Succ (Zero)))
    (_ (printf "Error: not a valid number!"))))

(define one (make-number (Zero)))
one

(define two (make-number one))

two

(define (addition n1 n2)
  (match n1
    ((Zero) n2)
    ((Succ i)(addition i (Succ n2)))))

(addition two two)

(struct Pred (n) #:transparent)

(Pred (Zero))

(define (make-number-2 prev)
  (match prev
    ((Succ prev) (Succ (Succ prev)))
    ((Zero) (Succ (Zero)))
    ((Pred n) n)
    (_ (printf "Error: not a valid number!\n"))))

(make-number-2 (Zero))
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